1.  The first train of the world between Liverpool and Manchester was started in the year of :

(a) 1820 (b) 1825 (c) 1830 (d) 1831

2. Who among the following has been appointed as 25™ Controller General of Accounts ?
(a) Deepak Das (b) Soma Roy Berman
(c) Girish Chandra Marmu (d)  Sushil Chandra

3.  The Union Budget 2021-22, allocates how much amount for Railways in the Financial
Year, 2021-22 ?

(a) 33,000 crores (b) 69,000 crores  (¢) 87,300 crores  (d) 1,10,055 crores

4.  World Population Day is celebrated on

(a) 21° June (b) 21% July (c) 11" June (d) 11" July

5.  According to Budget 2021-22, pensioners (senior citizen) over of age are exempted
from filing returns.
(a) 65 years (b) 70 years (c) 75 years (d) 80 years

6.  Who has been appointed as the new C.E.O. of Ayushman Bharat Scheme (Pradhan Mantri

Jan Arogya Yojna) ?
(a) M.S. Ananth (b) G.K. Pillai
(c) R.S. Sharma (d) Mukundkam Sharma

7. Who has been appointed as the first compliance officer of Facebook ?
(a) Zena Wooldridge (b) Florina Citu
(c)  Chris Hughes (d) Henry Moniz

8.  Name the Indian-American who has been appointed as acting Chief of Staff of NASA.
(a) BhavyalLal (b) RajaChari (c) Vivek Murthy (d) Raj Ayar

9.  Which State’s Chief Minister has launched, “Har Ghar Pani, Har Ghar Safai”, Mission ?
(a) Uttar Pradesh (b) Punjab (c) Haryana (d) Andhra Pradesh

10. Which word has been declared by Oxford Dictionary as the ‘Hindi’ word of the year 2020 ?
(a) Mahamari (b) Aadhar (c) COVID-19 (d) Aatmanirbharta

11.  Which among the following has become India’s youngest female pilot at the age of 25 ?
(a) Ayesha Aziz (b) Mala Adiga
(c) Bhawna Kanth (d)  Shrishi Goshwami

12. The first Indian woman to win an Olympic medal in 2000 is
(a) Karnam Malleshwari (b) Mary Kom
(c) Sania Mirza (d) P.V.Sindhu
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1. fova i vgel I ohatge qei $=rt < s fohd a9 § =ers g off ?
(a) 1820 (b) 1825 (c) 1830 d) 1831

2. T d @ e 259 aeoran e & w9 # fge franmen g 2
(a) duHe™ (b)) THITEEET () fRwEgm]  (d) gufer s

3. HLE TR 2021-22 % IFFER, ToediE a¥-2021-22 Hietd & fore fepaft uf¥t smafra hi g 2 2
(@) 33,0008 (b) 69,000  (¢) 87,300KUs  (d) 1,10,055 HUS

4. o = feag ] AT ST 8 |
(@) 2134 (b) 21 IS (¢) 1137 (d) 11T

5. ¥ 2021-22 % IFTER T 3feres 39 o USHY (1SS ATTiER) i fed aifiga v °
WA
(a) 6599 (b) 7099 (c) 7599 (d) 8099

6.  ITRISIWH WA FISHT (T S TR IIoHT) o 31 3,310 & &0 8 fopoehl frgfigs 8 7
(a) TAUH. 3FY (b) SH. fUeed () IRTE. IEI  (d) Ypehd IHl

7. HESH o Tgel I fUhRT % w9 H ford fger fern man @ 7
(a) SHgERE  (b) WAEHHE c) Traee (d) &S

8. 3 VR -3fEh! 1 9 Farse, f58 A 1 wridrEs HiE 3176 wie’ e frm g |
(a) WA (b) TSI (c) Toaes geff (d) TS IF=R

9. ToruTsa o g 3 ‘GO U, SR A, five ey TR g 2
(a) ST I (b) U (c) Bfamm (d) 3T I

10. SATFEHIS Iegeh!sT R fohH 31se i oY 2020 1 TE=< wree =iy fpan @ 7
(a) HEMH (b) 3MER (c) Hifag-19 (d) SATcHRaAT

11. P g% 25 ad 6 31y o WK ol gl o1 Al TEee S R 7
(a) ST (b) WIS AT (c) W& %3 (d) gfse M

12. TUH YRAE gfgat fSE9- 2000 T 3TTAFes Ueeh a1 —
(a) I AT (b) Wi HH (c) @t o (d) . Ry
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13.  Who is the author of the book, Kamla’s Way : An American Life ?
(a) Robert Irwin (b) Ripen Biswas (c¢) Hina Jaiswal (d) Paul Hilton

14.  Which of the following mandals of Rig Veda was dedicated to Soma ?
(a V (b)y VII (¢ IX @ X

15. Who, among the following, was a courtier of Harshasvardhan ?
(a) Asvaghosh (b) Nagarjuna (c) Mayur (d) Rajshekhar

16. Who was the founder of the ‘Ajivak’ sect in ancient India ?
(a) Makkhali Gosala (b) Parsva
(c) Ajita Kesakambalin (d)  Sthulbhadra

17.  Who was the spiritual mentor of Amir Khusro ?
(a) Shaikh Salim Chishti (b) Shaikh Nizamuddin Auliya
(c) Shaikh Hamiduddin Nagauri (d) Hasan Basari

18. Before becoming Sultan, who, among the following, had served as the Governor of Kara
also ?

(a) Iltutmish  (b) Jalaluddin Khilji () Sikandar Lodi (d) Alauddin Khilji

19. Who laid the foundation of the town of Agra ?
(a) Babur (b) Akbar (c) Sikandar Lodi (d) Aramshah

20. Who was India’s only Jewish Viceroy ?
(a) Lord Hardinge (b) Lord Lytton
(c) Lord Lansdowne (d) Lord Reading

21. Who declared the revolt of 1857 as a ‘national revolt’ in the House of Commons ?
(a) Lord Canning (b) Montague (¢) Disraeli (d) T.R. Holmes

22.  Who among the following is not related with Champaran Satyagraha (1917) ?
(a) Rajkumar Shukla (b) Sant Raut
(c) Rajendra Prasad (d) Swami Sahjanand

23. Ilbert Bill Controversy took place during the period of which viceroy ?
(@) Lord Lytton (b) Lord Lansdowne (¢) Lord Ripon (d) Lord Curzon

24. Who has won the National Lokmanya Tilak Award, 2021 ?
(a) Nageshwar Reddy (b) N.N. Pillai
(c) Cyrus Poonawala (d) Thomas Vijayan




13. “HHATE o : T HHA ATEH, T&ih o ol@eh i @ ?
(a) Tsdgfem (b)) Tua fowam (c) TememEEe™  (d) dUid feeed

14. =Ride 1 ffailgd § @ i 91 Hedt 914 <l 9HfUd 2 ?
(a) di=dl (b) Gradt (c) =&t (d) THar

15. fF=fafiga @ @ =9 edada = e an 7

(a) FrTIE (b) RIS () "L (d) TIER
16. IR WA § “ATSIeh T hl TEATIh hiv AT ?

(a) URGAI MEA (b) UE (c) 3NId hahafcH (d) TIATG
17. ST GEU 1 AT 16 i o1 ?

(a) 3@ T feedt (b) @ FremgER stifern

(c) IRE BHIGEM AT (d) TEISEd

18. HedH o4 ¥ Ygel fAfaifad & @ fopam shet & T & &9 7 off e foparm o
(a) Sedam®  (b) ToelEd fEestt (o) faberdel  (d)  SACTSEH faest

19. AR W& <kt fia foped gt 7
(a) ST (b) 3T (c) T ard (d) 3TRMESIE

20. WA b1 UohATA Jgal JR-IETE hiF AT 7
(a) WegeT  (b) die fdfeq (c) W ewgsEd  (d) wrsdfsm

21. TorEH B18H 3116 SImH ° 1857 % fogie & t U fage’ =sifva fomam 2
(a) WAEHET  (b) TR (c) Tesmraed (d) &I, IS

22. fferfiga 8 @ i =R wcmrE (1917) @ grfe 7= 8 2
(a) TIPHARIEFA (b) Hd U= (c) Toig TS (d) @ T

23. soe fot forare fopet amrer <6 w1t ® g3 7
(a) e foreq (b) TS TSR (c) e fum (d) TS HoA

24. TSI SARIT foeTeh QbR 2021 &1 fasar A 8 7
(a) TRRESE (b)) W fieers (¢) Im@EEen  (d)  omd fasee
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25.  Which of the following revolutionaries had worked as a clerk at Dehradun ?
(a) V.D.Savarkar(b) Lala Hardayal (c¢) Rashbehari Bose (d) Ajit Singh

26. Who was known as ‘Andhra-Bhoja’ ?
(a) Simuka (b) Gautamiputra Satakarni
(c) Krishnadevaraya (d) King Bhoja

27. Who, among the following, got life sentence in Kakori conspiracy case ?
(a) Roshan Lal (b) Rajendranath Lahiri
(c) Barindra Ghosh (d) Sachindranath Sanyal

28. Who founded the Sanskrit college of Banaras ?
(a) Jonathan Duncan (b) William Jones
(c) Charles Grant (d) Warren Hastings

29. With which of the following country Radcliffe line forms India’s boundary ?
(a) China (b) Myanmar (c) Nepal (d) Pakistan

30. Which of the following river is not the tributary of River Ganga ?
(a) Sone (b) Betwa (c) Gomati (d) Ramganga

31. Which of the following National park is situated in Uttar Pradesh ?
(a) Kaziranga National Park (b) Corbett National Park
(c) Dudhwa National park (d) Bandhavgarh National Park

32. Which of the following State is the most densely populated in 2011 ?
(a) WestBengal (b) Bihar (c) Uttar Pradesh  (d) Punjab

33.  Which of the following State has the longest spell of Monsoon Rains ?
(a) Kerala (b) West Bengal (c) Maharashtra (d) Uttarakhand

34. At which of the following is the headquarters of North-Western Railways located ?
(a) Ajmer (b) Bikaner (c) Jaipur (d) Jodhpur

35. When was Subhash Chandra Bose selected in Indian Civil Service ?
(a) 1917 (b) 1920 (c) 1921 (d) 1922




25. frAfaRaa swifaenticat 4 @ ferar forfies o w9 5 Sgtgd o s foam o 2
(a) NEAEH (b)) A (¢) THEEEREE  (d) 3d g

26. ‘3T 9IS oh &Y T i SIHT ST AT 7

(a) Togs (b) TG AARMT () FICEE (d) TTOS

27. TfaiRad 4 | fR8 HTR Y83 FIVE H TS HaTd g3 ?
(a) UIAATA (b) TEEAIATE (c) g aN (d) TS g

28. SFRE H G ohicTsl ohi TTHAT fohe i off ?
(a) ST EHT (b)) faferm S (c) =meduie (d) A gfe™

29. o= o @ form <o < Ty ESfeas T@r wid ™ dmy s 8 7
(a) =M (b) TIMR (c) Ut (d) dTfhE

30. T 1 9 i & 9 T A€ ) gE e el @ 7

(a) G (b) Sdar (c) T (d) THT
31. =8 QB a1 Usdy ureh ST ey d wifa g 7

(a)  SHISTIUT TSR oTeh (b)  =hisic TS Teh

(c) G U UTeh (d) STEETE T Ih

32. T da T Tsw 2011 9 9@ 31feres S TEa1 g 7
(a) UlsH s (b) fEER (c) ST (d) e

33. =% 9 o1 Ty A 9wl i ged ot st W@ g 7
(a) HA (b) ufvaw s (c) TERIS (d) ITES

34, @ we € g W I -ufvad e w1 geres g 2
(a) 3L (b) PR (c) L (d) g

35. sfeem fufaet afda & gy o8 &1 =3 e g3t ?
(@) 1917 (b) 1920 (c) 1921 (d) 1922
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36. The leading Manganese producing State in India is —
(a) Karnataka (b)  Chhatisgarh (c) Madhya Pradesh (d) Odisha

37. Which of the following is not Nuclear Power Station ?
(a) Rawatbhata (b) Khopoli (c) Kakrapara (d) Kaiga

38. Which of the following centre is not known for the production of Silk Textile ?
(a) Ahmedabad (b) Mysore (c) Srinagar (d) Ratnagiri

39. Bagnath temple of Bageshwar is situated at the confluence of which two rivers ?
(a) Saryu and Gomati (b) Saryu and Panar
(c) Saryu and Ramganga (d) Kosiand Gaula

40. Where was the State Vaccine Institute set up by the British administration ?
(a) Mukteshwar (b) Patwadangar (c) Dharamghar (d) Dhanaulti

41. Where did Sir George Everest establish his Observatory ?
(a) Mussoorie  (b) Nainital (c) Devsthal (d) Abbot Mount

42. Where was the first leper asylum set up in British Kumaun ?
(a) Pithoragarh (b) Lohaghat (c) Almora (d) Dehradun

43. Which of the following pairs is incorrect matched ?

Place —  Activity
(a) Auli —  Winter Games
(b) Pancheshwar —  Angling
(c) Pindri Glacier —  Trekking
(d) Harsil —  Water Sports

44. In which part of the body the ornament ‘Dhagula’, popular in Uttarakhand, is worn ?
(a) Neck (b) Foot (c) Wrist (d) Waist

45. Which one of the following Gurudwaras is not located in Uttarakhand ?
(a) Paonta Sahib (b) Reetha Sahib (c) Nanak Matta (d) Hemkund Sahib

46. Which of the following crops are not grown in the Kharif season ?
(a) Barley and Mustard (b) Bajra and Rice
(c) Maize and Jowar (d) Jowar and Rice




36. WRA H AN o1 it 3cdres U9 3
(a) HACH (b) BTG (c) W e (d) 3nfesm

37. T 8@ M = 31 forg v e 7@ & 7
(a) TIAHTET (b) Wrrelt (c) THHUUT (d) Hm

38. ﬁwﬁﬁﬁqw%ﬁmw%mﬁsmﬁww%?
(a) 3ITEHGETE  (b) W (c) R (d) TThIT

39. SHIYE T ST AL o5 < Afeai & T w fra @ 7
(a) TEAATHA (b) FTEAATR  (c) HYAATHTN () HIE AT el

40. Tofes T=mem g TSTehiar T&TTeTd TEATH Shi LATYAT Shal ohl T ?

(a) HFHITH (b) UETER (c) U (d) e
41, TSI TeRE 9 3791 YT shal €T <6l ?

(a) =gl (b) e (c) coedd (d) TEHAR=
42. Tsifem FIeiH $HHS H T8 HES1HH Hal TATUd 3T 7

(@) Termg (b)) <EER (c) IFeHIR (d) <ETed
43. Treifeea 3 & M o w g T 2 7

M Tfafafy

(a) et —  SfidehreE @

(b) YR — A 3NEL

(c) fwedifeme — 3w

d) =faa S RIS
44. IACEUS H THICTd STV ‘G’ IR b fohd 37T | gy fopar ST @ 2

(a) T&A (b) W (c) s (d) W

45. TifeRa | @ 1 &1 TegN Ioarave § fRa e R 7
(a) dweraifzs  (b) TerwriEE (c) T T (d) TUFHUS AIle

46. T 3 T N wHe Tl HeH H TE 1 I A E 7
(a SNWTE (b) IS UWEIAEA (¢) HFHITESIR  (d) IR U Fraed
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47. Which one of the sequences of British Commissioner of Kumaun is correct ?
(a) Traill, Gardiner, Ramsay, Wyndham (b) Gardiner, Ramsay, Batten, Lushington
(c) Traill, Finlay, Ibbotsan, Ross (d) Gardiner, Traill, Lushington, Batten

48. The painting ‘Vipralabdha Nayika’ is a work of which artist of Garhwal School of
Painting ?

(a) Har Das (b) Mola Ram (c) Mangat Ram (d) Jwala Ram

49. Where was the first sanatorium for Tuberculosis opened in Kumaun ?
(a) Almora (b) Bhavali (c) Gethia (d) Pithoragarh

50. Katarmal Temple is dedicated to which deity ?
(a) Vishnu (b) Sun (¢) Shiva (d) Ganesh

51.  Which one of the following tribes is not found in Uttarakhand ?
(a) Tharu (b) Buksa (c) Bhil (d) Jaunsari

52. Match the following and select the correct answer :

Scheduled Tribe Tehsil
A. Shauka 1 Khatima
B. Jaunsari 2 Dharchula
C. Raji 3 Chakrata
D. Tharu 4 Didihat

A B C D
(a) 1 2 3 4
(b) 4 1 2 3
(c) 3 4 1 2
(d 2 3 4 1
53. Which one of the following pairs is incorrectly matched ?
Church Town

(a) Budden Memorial Church Almora
(b) St. John’s in Wilderness Nainital
(c) St. Bonaventure’s Church Mussoorie
(d) Ignatius Michael’s Church Ranikhet




47. FHS % Torfew it o1 i a1 SgFa w8 7
(a) oA, MER, WA, faen (b) TR, WS, e, AT
(c) ¢, fht, 39eEd, T (d) TER, 3, AR, S

48. “fawerey Tfyenr’ formt TgaTel Hord o foha femepR A i 2 2
(a) WTH (b) e T (c) WA (d) ST T

49. AT H TEAT & WMHH Hal AT g1 ?
(a) IACHIS (b) W (c) e (d) frewrme

50. HeRHo T&Id Hieet forg caar & grafa 2 ?
(a) fesop (b) @ ) T (d) TR

51. T=fafiga 5 9 %F o SASfa STu@ve 1 981 qrRft Sl @ ?
(a) U® (b) S (c) & (d) e

52 Freerian ) g ot ae e TR

A. iR 1. gdm

B. Saw 2. YT

C. Tt 3. <FeRUdar

D. 9w 4. R
A B C D

@ 1 2 3 4

b 4 1 2 3

¢ 3 4 1 2

d 2 3 4 1

53, fifera o & % o1 3w gAfea T R ?
TRSTeR TR

(a) oI O 9 S (1

(b) Ted@efocsm - I
(c) T ST == ~ gl
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54. Who was the first woman of Uttarakhand to be imprisoned during the freedom struggle ?
(a) Sarla Behan (b) Kunti Verma
(c) Bishni Devi Shah (d) Vidyavati Dobhal

55. Which one of the following trees of Uttarakhand grow at lower altitude ?
(a) Oak (b) Deodar (c) Sal (d) Rhododendron

56. Which one of the following pairs is incorrectly matched ?

Hydro Power Project River

(a) Vishnuprayag — Alaknanda
(b) Banbasa —  Yamuna
(c) Chila — Ganges
(d) Tehri —  Bhagirathi

57. Where was the first Magnesite factory established in Uttarakhand ?
(a) Ramgarh (b) Gangolihat (c) Chamba (d)  Jhiroli

58. Which one of the following pairs is incorrectly matched ?

Sanctuaries District
(a) Rajaji National Park Uttarkashi
(b) Corbett National Park Pauri and Nainital
(c) Nandhaur Sanctuary Nainital

(d) Nandadevi National Park Chamoli

59. Nanda Raj Jat is held at an interval of how many years ?
(a) 6 (b) 8 (c) 10 (d 12

60. Which one of the following pairs is incorrectly matched ?

Glacier River
(a) Satopanth — Alaknanda
(b) Khatling — Bhilangana
(c) Pindari — Pindar
(d) Milam — Ramganga (Eastern)

61. Pancheshwar Dam is proposed to be constructed on which river ?
(a) Kali (b) Gaula (c) Alaknanda (d) Yamuna




54.

5S.

56.

57.

58.

59.

60.

61.

i1 T & SR Sl ST aTed] ITUEUE <hl T Higett i off ?
(a) WATTET  (b) Pt Imi (c) fewficdtsme (d) foermedt e

IATGUE o FTfRd Fafi § & i HF HaT WEd @ 7
(a) o (b) TR (c) &I
frtiferd § @ i w1 gm gAfea @ 8 7

ERIEEGRITCIEL Bl
(a) fospRmT NS

(b) s — gl
(c) e — T
(d) fesht —  yrfeef
IAEUE B HHaETEe 6l Tact! Bl hal T1d g8 ?
(a) THTG (b) TeAETE (c) =T
frerifena o & s @ gm gEfa T8 & 2
SRR SHIq

(a) TIASHTERIITA  — IAHEN

(b) whise TT 3TUM — Ui qun Ha
(c) TR AT — e

(d) FeedfiTsfaseE™  ~ =l

=81 TS ST <Rl TS fohde 981 o AU H BT @ ?

(@ 6 (b) 8 (c) 10
frtiferd § @ i w1 gm gAfea @ 8 7
fewe B

(a) TA™y - 3R
(b) waferm - e

(c) fywet - fuoex

(d) frem - o (gE)

Goger |1y w1 fmior fhg 7 wyEarfaa & 7

(a) hTefl (b) e (c) IActehal

(d) e

(d) ferdeft

d 12
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62.

63.

64.

65.

66.

67.

68.

69.

70.

Which is oldest canal built by the British administration in Uttarakhand ?
(a) Eastern Ganga Canal (b) Ramganga Canal
(¢) Sharda Canal (d) Upper Ganga Canal

Irrigated land in Uttarakhand is known is
(a) Talaon (b) Upraon (c) Katil (d) Izran

Which one of the following pairs is incorrectly matched ?

Lake District
(a) Dodi Tal Uttarkashi
(b) Roopkund Chamoli
(c) Shyamla Tal Nainital
(d) Tarag Tal Almora

Out of the following places which one is located at the highest altitude ?
(a) Karnprayag (b) Rudraprayag (c) Nandprayag (d) Vishnuprayag

Which two of the following rivers do not meet each other ?

(a) Kali—Saryu (b) Kosi—Gagas (¢) Ganga—Nayar (d) Yamuna-—Tons

Which one of the following rivers does not originate from a glacier ?
(a) Ramganga (Eastern) (b) Ramganga (Western)
(¢) Gori (d) Bhagirathi

Which one of the following literators of Uttarakhand received the Jnanpeeth award ?
(a) Shailesh Matiyani (b) Sumitra Nandan Pant
(c) Vidyasagar Nautiyal (d) Manglesh Dabral

Wildlife Institute of India is situated in
(a) Lucknow (b)  Shillong (c) Dehradun (d) Ranchi

What is ‘Chanchari’ ?
(a) A musical instrument (b) A dance form
(c) A festival (d) A goodess




62. Iat@ve H fafest yemem gra fafida we@ qut T s w R 7

(a) QEITMTE  (b) THTT AR ORRILEE (d) I T AR
63. IAUEvs H fafea i i e A1 2 |
(a) qATS (b) ST (c) (d) THH

64. TeAifena o & 1 o1 3w gaferd T8 B ?
AT IS
(a) erEtam —  SemEh
(b) wuFHUE —
(c) wmendE - A
(d) dgmaE - FeHEl

65. Tr=ifend Tl o € i gaities S W iR g 7
(a) HUTETT (b) TEIATT (c) I (d) TSR

66. TrTfera o @ s @t €1 Ffeat 3mag ¥ T ferdt ?
(a) HEH—TF (b)) HE—TE (c) TN — AR (d) I -2\

67. Taeiferd § @ ol i 7<) foreft femme @ ==& fehard ?
(a) T (qE)  (b) T (afeEt) () TR (d) wrfieeft

68. ITATEUS o FHTToha ATEh R § & fohtl TS TR & HHATHA fohal TRIT 7
(a) Iomafeat (b)) FEEEAU@ () foumEmR RIS (d) e g

69. WA I=siid HE R 2
(a) EISH (b) T (c) <BUgdH (d) T

70. ‘BHd R ?
(a) THATIA (b) Th I el (c) TH RN (d) THeE
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71. Nanda Devi National Park was established in the year
(a) 1986 (b) 1982 (c) 1985 (d) 1984

72. The head office of the National Biodiversity Authority is located in
(@) New Delhi (b) Bengaluru (c) Dehradun (d) Chennai

73. The one horned Indian rhino has its natural home in
(a) Kaziranga National Park (b)  Corbett National Park
(c) Sundarbans (d) Kanha National Park

74. Which country won the I.C.C. World Test Championship in 2021 ?
(a) India (b) New Zealand
(c) Australia (d) England

75. Which Tennis player has won 11 titles at one particular Grand Slam event ?
(a) Pete Sampras (b) Roger Federer
(c) Novac Djokovic (d) Rafael Nadal

76. Name the first Indian Woman Hockey player who scored a Hat Trick in the Olympics ?
(a) Vandana Kataria (b) Rani Rampal
(c) Navjot Kaur (d) Deep Grace Ekka

77. The winter Olympic Games started in which year ?
(a) 1896 (b) 1900 (c) 1924 (d) 1928

78. Which one of the following is the most popular sports in the world ?
(a) Cricket (b) Football (c) Tennis (d) Boxing

79. Kedarnath Ecodisaster of June 2013 was caused due to flash floods in the river :
(a) Yamuna (b) Bhagirathi
(c) Kosi (d) Mandakini




71, el <ot TS SE <ht T 9 T g8 off |
(a) 1986 (b) 1982 (c) 1985 (d) 1984

72. TS Sg-Tafaedn Fiieton 1 gy e @ -
(a) TEfeeeltd  (b) SOEH (c) <EUHH (d) ==Ed

73. T HI ATl WA T b1 WTehldieh AT & :
(a) SIS TS 3T (b) hise TSI JTH
(c) Yl (d) I TS 3T

74. 2021 1 form o 3 3189 = forve e Sferafm S ¢
(a) WA (b) Sfieivg (c) FARgferan d) e

75.  Topm e Raerret = foreft weh foomy i o wfeifirar 11 st 2 2
(a) Teamm@  (b) TSH BT (c) aTeh Sehifaeh  (d) el 8T

76. 3 YW WRAT Afger giehl Rt o1 9 samd e sfifeftyes o e foh st ¢
(a) TGN (b) T THITA (c) TaSId R (d) &9 Y TFhT

77.  SfdeRTet SIS T fohd I TRy gT 72
(a) 1896 (b) 1900 (c) 1924 (d) 1928

78. T 49 %9 91 @« fava 4 gaifes A @ 2

(a) Tophe (b) eI (c) <= (d) Sifea
79. ShGRATY 3TTYET S 2013 T SR TG H 3TTeR e TG T |
(a) T (b) wrfieeft (c) ehrEl (d) wgTeRHt
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80.

81.

82.

83.

84.

8S.

86.

87.

88.

89.

In which medium would sound have the maximum speed ?
(a) Metal (b) Liquid (c) Gaseous (d) Vacuum

Vitamin B-12 contains :
(a) Iron (b) Nickel (c) Cobalt (d) Magnesium

The gas used for artificial ripening of fruits is :
(a) Ammonia and Carbon dioxide (b) Ethane and Ammonia
(c) Methylene and Carbon dioxide (d) Ethylene and Acetylene

Formalin is an aqueous solution of :
(a) Formic Acid (b) Furfural (c) Formaldehyde (d) Fluorescein

The Purest form of water is :

(@) Wellwater (b) Spring water (c) Surface water (d) Rain water

Common name of Sodium Carbonate is :
(a) Baking Powder (b) Caustic Soda
(c) Washing Soda (d) Bleaching Soda

Number of bones in adult human body are :
(a) 206 (b) 216 (c) 226 (d) 270

Coprophagy is seen in
(a) Frogs (b) Squirrels (c) Rabbits (d) None of these

Acrosome of sperm is formed by :
(a) Endoplasmic Reticulum (b) Plasma Membrane
(c) Nucleus (d) Golgi Apparatus

If the time of flight of any projectile is 10 seconds, what will be the maximum height
achieved by it ?

Given : g = 10 metre/sec?
(a) 100 metre (b) 125 metre (¢) 150 metre (d) 200 metre




80. Trg wiesm § 3t bl =Tt SRR B & ?
(a) g (b) wd (c) T (d) Tama

81. frmfm«fi-12%ga?:
(a) <& (b) e (c) hIdTeE (d) Afifsem

82. 0 T H HeAl bl TehT o (7T ITART H T AT 16 2 —
(a) STHIET Td HTa SEITES (b) 39 Ug I
(c) THeTSH Ud e SBATETSS (d) ufref wa vEifeeta

83. hiHc(H Ush ety forforem 2 -
(a) I 3T HT(b)  HIREHA I (c) WHSEREH (d) TN B

84. UM H YGAHEIR :
(a) POHIIA (b)) WA A (c) Udg T (d) ST HT A

85. TITSIH HIEHE T FHI TH 2 :
(a) TR Ol (b) Hifeesh dreT (c) & T |IET (d) foises =t

86. ITH UTE YR H gfgeai Sl g@mn gt 2
(a) 206 (b) 216 c) 226 d) 270

87. SIS <@ S ® —

(a) HehH (b) Frerefe §

(c) wumen H (d) T Y HIE T
88.  I[SRTU] o UshIHH <hT f-THIUT BIAT & -

(a) TSIATEHe e gl (b) TSI fereett g/

(c) 5hgA (d) TIiersh M g

89. fe fereft wei=r 1 3gea FTa 10 THUS BN, I $8h GRI I HETH HaTs T BT 2
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90. The first mid-term elections in India were held in
(a) 1967 (b) 1971 (c) 1977 (d) 1980

91. Which High court in India has the largest jurisdiction ?

(a) Bombay (b) Allahabad (c) Calcutta (d) Guwabhati
92. Panchayati Raj belongs to list.
(a) Residuary (b) Concurrent (c) Union (d) State

93. The provisions of Sixth schedule of the Constitution shall not apply in which of the
following states ?

(a) Meghalaya (b) Tripura (c) Goa (d) Mizoram

94. The only President of India, who was elected unopposed, is —
(a) Dr. Rajendra Prasad (b) V.V.Giri
(c) Neelam Sanjeeva Reddy (d) Pranab Mukherjee

95. The 73 Amendment was brought into force to give effect to one of the Directive
Principles of State Policy mentioned in —

(a) Article 40 (b) Article 42 (c) Article 45 (d) Article 47
96. Who was the first Deputy Prime Minister of India ?

(a) R.N. Shukla (b) Sardar Vallabh Bhai Patel

(c) Gulzari Lal Nanda (d V.R.Gil

97. Under the Indian Constitution any arrested person must be appeared before the nearest

magistrate with hours.

(a) 12 (b) 24 (c) 36 d 72
98. The term on the Comptroller & Auditor General of India is years.

(a) 6 (b) 5 (c) 4 d 3

99. The A.T.M. service in India was started in the year
(a) 1985 (b) 1987 (c) 1991 (d) 1996

100. Which of the following languages is NOT in the Eighth Schedule of the Constitution ?
(a) Persian (b)  Sanskrit (¢) Kashmiri (d) Nepali




90. WRd H Ygcl LAY IS FEuY |
(a) 1967 (b) 1971 © 1977 d) 1980

91. YA ¥ ford 3= AT 1 a4 o<1 TR SATRIHR B ?

(a) g (b) ITRTETG (c) heTshall (d) TR
92, YAl TS T HEfa g |
(a) 3AARTSE (b) FHed! (c) &g (d) T
93. wfgu 6l Bdl ST % ey = § & fopg e o oy 72 & 2
(a) WHET (b)y Bgu (c) Tam (d) Frem
94, Y % USHAM Tsgufd, st ffdte fraffaa gu, g
(a) S TS5 IEE (b) e i (c) Tomusiaigdl (d) v gEst
95, 73l G, T afofa T o ifd—Freres awil & Tsh T ol YuTe s & fofu
SIEIRIEIN

(a) ITRT40 (b)) ILDT 42 (c) 3T=DT 45 (d) ITT=e 47

96. {Rd o JUH IY-TLHHA b I ?

(a) AT, AT (b) THER TeTHTE U
(c) TSI T T (d) &R, i
97. R Gfaem™ & A=rid ferdl fTear safed U} o Wiat ASTcieh! =mnefist &
TrE et feha S 31faT 2 |
(@) 12 (b) 24 (c) 36 d 72
98. WA % {¥=h Ud "I TH1&7h h1 hehIcT IET I BT S |
(@ 6 (b) 5 (c) 4 (d 3
99. WRd H .. TH. TaT hi IETT I8 HEg ot
(a) 1985 (b) 1987 (c) 1991 d) 1996

100. 71 % & w1 wf v wfere 1 sTedt g AT R 7
(a) UTEE (b) E=hd (c) I (d) Jureft
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